H 08

WHEEL SPACERS

Forged_ aluminum alloy Precision CNC Machining Professional studs and
for choice 6061-T6/ 7075-T16 nuts for safety

INSTALLATION INSTRUCTION

¥ —’?‘7@':@ —
(N —— —
— ® —
— ) —_—
=
Vchicle Wheel Spacers Stock
Axle Hub Spacer Lug Nuts Wheel Lug Nuts

09 N



Hub Centric Spacers

=
-
o
@
D
-
R
=
O

sloydepy

lesianiun | ouuan qnH

oluUa) qriH

H 10

LG ESS )

Centerbore
In(mm)

Centerbore
Out(mm)

step(mm) Bolthole(mm)

Part No. Thickness(mm) Cel:’;::;)re Cg:s:f:; - step(mm) Bolthole(mm)
S311216.0 16 3x112 o971 or.1 9 13
S311220.0 20 3x112 of.1 of. 1 9 13
S311230.0 30 3x112 571 o7.1 9 13
$S410005.0 3] 4x100 or7.1 or.1 - 15
S410005.1 < 4x100 60.1 60.1 - 15

S410005.1B 5 4x100 60.1 60.1 - 13
S410005.2 9) 4x100 56.6 56.6 - 13
S410005.3 3) 4x100 96.1 56.1 - 15
S410008.0 8 4x100 o971 o971 - 15
S410010.0 10 4x100 571 57.1 9 15
S410012.0 12 4x100 571 57.1 9 15
S410012.1 12 4x100 56.6 56.6 9 13
S410013.0 13 4x100 941 o4.1 9 13
S410013.1 13 4x100 56.6 56.6 9 13
S410013.2 13 4x100 or7.1 o7.1 9 13
S410013.3 13 4x100 60.1 60.1 9 13
S410015.0 15 4x100 o971 o7.1 9 13
S410015.1 15 4x100 60.1 60.1 9 13
S410015.2 15 4x100 56.6 56.6 9 13
S410015.3 15 4x100 o7 1 o7.1 9 15
S410015.4 15 4x100 56.1 56.1 9 15
S410016.0 16 4x100 52.1 92.1 9 13
$S410016.1 16 4x100 94.1 541 9 13
S410016.2 16 4x100 56.1 56.1 9 13
S410016.4 16 4x100 56.1 56.1 9 15
S410016.5 16 4x100 06.6 96.6 9 13
S410016.6 16 4x100 o7.1 or.1 9 13
S410016.7 16 4x100 99.1 09.1 9 13
S410016.8 16 4x100 60.1 60.1 9 13
S410016.9 16 4x100 60.1 60.1 9 15
S410017.0 17 4x100 56.6 96.6 9 13
S410020.0 20 4x100 52.1 92.1 9 13
S410020.1 20 4x100 54 1 541 9 13

S410020.11 20 4x100 7.1 T8 9 15
$S410020.2 20 4x100 96.1 56.1 9 13
S410020.3 20 4x100 56.1 96.1 9 13
$410020 .4 20 4x100 96.1 56.1 9 15
S410020.5 20 4x100 6.6 56.6 9 13
S410020.6 20 4x100 o571 o571 9 13
S410020.8 20 4x100 59.1 99.1 9 13
S410020.9 20 4x100 60.1 60.1 9 13

S410020.98 20 4x100 60.1 60.1 9 15
S410025.0 25 4x100 60.1 60.1 9 15

S410030.0 4x100
S410030.1 30 4x100 56.6 56.6 9 13
S410030.2 30 4x100 60.1 60.1 9 15
S410805.0 5 4x108 65.1 65.1 - 15
S410805.0B 5 4x108 65.1 65.1 - 13
S410805.1 S 4x108 63.4 63.4 - 13
S410810.2 10 4x108 65.1 65.1 - 15
S410810.0 10 4x108 65.1 65.1 9 13
S410810.1 10 4x108 65.1 65.1 9 15
S410812.0 12 4x108 65.1 65.1 9 15
S410812.1 12 4x108 63.4 63.4 9 13
S410812.2 12 4x108 65.1 65.1 9 13
S410813.0 13 4x108 65.1 65.1 9 13
S410813.1 13 4x108 63.4 63.4 9 13
S410815.0 15 4x108 65.1 65.1 9 13
S410815.1 15 4x108 65.1 65.1 9 15
S410816.0 16 4x108 63.4 63.4 9 13
S410816.1 16 4x108 65.1 65.1 9 13
S410816.2 16 4x108 65.1 65.1 9 15
S410816.3 16 4x108 63.4 63.4 9 15
S410817.0 17 4x108 63.4 63.4 9 13
S410820.0 20 4x108 63.4 63.4 9 13
S410820.1 20 4x108 65.1 65.1 9 13
S410820.2 20 4x108 65.1 65.1 9 13
S410820.3 20 4x108 65.1 65.1 9 15
S410820.4 20 4x108 63.4 63.4 9 15
S410821.0 21 4x108 65.1 65.1 9 13
S410825.0 25 4x108 65.1 65.1 9 13
S410825.1 25 4x108 65.1 65.1 9 15
S410825.2 25 4x108 63.4 63.4 9 15
S410830.0 30 4x108 65.1 65.1 9 15
S410835.0 35 4x108 65.1 65.1 9 13
S411425.0 25 4x114.3 66.1 66.1 - 13
S411416.0 16 4x114.3 66.1 66.1 9 13
S411416.1 16 4x114.3 67.1 67.1 9 13
S411420.0 20 4x114.3 66.1 66.1 9 13
S411420.1 20 4x114.3 67.1 67.1 9 13
S409805.0 5 4x98 58.1 58.1 . 13
S409812.0 12 4x98 65.1 65.1 9 13
S409812.1 12 4x98 58.1 58.1 9 15
S409813.0 13 4x98 58.1 58.1 9 13
S409815.0 15 4x98 58.1 58.1 9 13
S409816.0 16 4x98 58.1 58.1 9 13
S409816.1 16 4x98 58.6 58.6 9 13
S409816.2 16 4x98 58.1 58.1 9 15

Hub Centric

Hub Centric
Adaptors

118

Hub Centric | Universal



Hub Centric Spacers

-

- N
\)"‘o/

| —

ol
=
o
®,
(D
=
i~
=4
o

sloydepy

|lesiaaiun | ouuan gny

oluUa) qriH

M 12

Part No. Thickness(mm) Celr;t(::):re CZT;;::; 3 step(mm) Bolthole(mm)
$409820.0 20 4x98 98.1 938.1 9 13
S409820.1 20 4x98 08.6 58.6 9 13
S409820.2 20 4x98 98.1 98.1 9 15
S409825.0 25 4x98 58.1 58.1 9 15
$409830.0 30 4x98 98.1 98.1 9 13
S510005.0 S 5x100 96.1 56.1 - 15
S510013.0 13 5x100 or-1 571 9 15
S$510016.0 16 5x100 54 .1 541 9 13
S510016.1 16 9x100 96.1 96.1 9 13
$510016.2 16 5x100 57.1 o7.1 9 15
S510016.3 16 5x100 54 1 541 9 15
S510020.0 20 ox100 o4 .1 54 .1 9 13
$510020.1 20 9x100 56.1 56.1 9 13
$510020.2 20 5x100 571 o7.1 9 15
$510025.0 25 5x100 or.1 o7.1 9 15
$510805.0 3] ox108 63.4 63.4 - 15
S510810.0 10 5x108 65.1 63.1 9 19
$510816.0 16 5x108 58.1 58.1 9 13
S510816.1 16 5x108 60.1 60.1 9 15
$510816.2 16 5x108 63.3 63.3 9 13

S5510816.28 16 5x108 63.3 63.3 9 15
S510816.3 16 5x108 65.1 65.1 9 13
$S510816.4 16 ox108 65.1 65.1 9 15
S510816.5 16 o5x108 63.4 63.4 9 15
S510817.0 17 o5x108 60.1 60.1 9 15
S510820.0 20 5x108 58.1 58.1 9 13
S510820.1 20 ox108 60.1 60.1 9 15
$510820.2 20 5x108 63.3 63.3 9 13
$510820.3 20 ox108 65.1 65.1 9 13
S510820 .4 20 ox108 65.1 65.1 9 15
S510820.5 20 5x108 63.4 63.4 9 15
S510830.0 30 5x108 63.4 63.4 9 15
$510830.1 30 5x108 65.1 65.1 9 15
S511005.0 S 5x110 65.1 65.1 - 13
S511005.1 o ox110 65.1 65.1 . 15
S511012.0 12 5x110 65.1 65.1 9 13
$S511015.0 15 ox110 65.1 65.1 9 13
S511016.0 16 5x110 65 65 9 15
S511016.1 16 5x110 65.1 65.1 9 13
S511016.2 16 5x110 65.1 65.1 9 15
S511020.0 20 ox110 65 65 9 1
S511020.1 20 5x110 65.1 65.1 9 13
$511020.2 20 o5x110 65.1 65.1 9 15
S511205.0 3] ox112 66.56 66.56 - 15

S511205.0B 3) ox112 66.6 66.6 - 15

Part No. Thickness(mm) Celzt(:':;)re Cgr:ltte(rr:r:)r s step(mm) Bolthole(mm)
S511205.1 5 ox112 ol or.1 - 15
S511205.3 o o9x112 66.45 66.45 - 15
S511207.0 7 5x112 66.6 66.6 - 15
$511208.0 8 ox112 73.1 57.1 - 15
S511210.0 10 5x112 66.56 66.56 - 15
S511210.1 10 ox112 o971 o971 - 15
$511210.2 10 ox112 66.6 66.6 - 15
S511215.2 15 5x112 66.6 66.6 - 15
S511215.3 15 5x112 75.1 66.6 - 15
S511220.5 20 ox112 66.6 66.6 - 15
S511205.2 S ox112 66.5 76 9 15
S511205.4 5 ox112 66.6 73 9 15
S511210.3 10 5x112 66.6 66.6 9 15
S511210.4 10 5x112 66.5 76 9 15
S5611210.5 10 ox112 66.45 66.45 9 15
S511210.6 10 ox112 o571 o57.1 9 15
S511210.7 10 5x112 66.6 {3 9 15
S511211.0 1 5x112 66.6 66.6 9 15
S511212.0 12 ox112 66.6 66.6 9 15
S511212.1 12 ox112 66.6 66.6 9 16
S511212.2 12 o5x112 66.45 66.45 9 15
S511213.0 13 5x112 57.1 57.1 9 15
S5112131 13 5x112 66.6 66.6 9 15
S511213.2 13 ox112 66.45 66.45 9 15
S511213.3 13 ox112 66.5 66.5 9 15
S511215.0 15 ox112 66.6 66.6 9 15

S5511215.1B 15 5x112 66.6 o571 9 15
S511215.4 15 ox112 66.45 66.45 9 15
S511215.5 15 o9x112 o571 57.1 9 15
S511215.6 15 ox112 66.6 73 9 15
S511216.0 16 5x112 571 571 9 15
S511216.1 16 5x112 66.6 66.6 9 13
S5611216.2 16 ox112 66.6 66.6 9 15
S511216.3 16 ox112 66.45 66.45 9 15
S511216.4 16 5x112 66.5 76 9 15
S511216.5 16 5x112 66.5 66.5 9 15
S511217.0 17 o5x112 66.6 66.6 9 15
S511217.1 11> ox112 66.6 66.6 9 15
$511220.0 20 o9x112 571 o7.1 9 15
S511220.1 20 5x112 66.6 66.6 9 13
S511220.2 20 5x112 66.6 66.6 9 15
S511220.3 20 o9x112 66.6 66.6 9 15
$S511220.4 20 ox112 66.56 66.56 9 15

$511220.48 20 ox112 66.6 o7.1 9 15
S511220.6 20 5x112 66.5 76 9 15

Hub Centric

Hub Centric
Adaptors

13 B

Hub Centric | Universal




» HENG TIAN

Hub Centric Spacers

Part No. Thickness(mm) CeI:t(::;)re Cgr:ltte(r::nc:)re step(mm) Bolthole(mm) Part No. Thickness(mm) CEI::'::TE Cg:;:;;e step(mm) Bolthole(mm)
S511220.7 20 5x112 66.45 66.45 9 15 S512015.1 15 ox120 2.5 725 9 15
S511220.8 20 ox112 66.5 66.5 9 15 $512015.2 15 ox120 741 726 9 16
$511220.3B 20.5 ox112 66.6 66.6 9 15 S5612015.28 15 5x120 741 72.6 9 13
S511225.0 25 5x112 66.6 57.1 9 15 S512015.3 15 ox120 2.6 2.6 9 15
T S$511225.1 25 ox112 66.6 66.6 9 15 S512015.4 15 5x120 741 741 9 15 ©
= S511225.2 25 ox112 66.5 76 9 15 S512015.5 15 5x120 741 72.5 9 15 "E
Q S511225.3 25 5x112 66.45 66.45 9 15 $512015.6 15 5x120 65.1 65.1 9 15 8
5 S511225.4 25 5x112 57.1 57.1 9 15 S512016.0 16 5x120 726 726 9 13 S
S511225.5 25 o5x112 66.5 66.5 9 15 $512016.1 16 5x120 726 72.6 9 15
5 E'- S511230.0 30 ox112 66.6 66.6 9 15 S512016.2 16 ox120 741 741 9 13 i
'E, g $511230.1 30 ox112 66.5 66.5 9 15 $512016.3 16 o5x120 74.1 741 9 15 E “:6"
% g S511235.0 35 5x112 66.6 66.6 9 18 S512017.0 17 5x120 72.6 726 9 15 g é
=) S511235.1 35 ox112 66.45 66.45 9 15 S5120171 17 ox120 741 741 9 15 33: E
—~ S511215.1 15 5x112 66.6 66.6 10 15 $512020.0 20 5x120 25 725 9 13 =
%- S511405.0 5 5x114.3 66.1 66.1 - 15 $512020.1 20 5x120 72.6 72.6 9 13 g
% S511405.1 3) ox114.3 64.1 64.1 - 15 $512020.2 20 ox120 2.6 726 9 15 E
= S511405.2 5 o9x114.3 60.1 60.1 - 15 $512020.3 20 5x120 741 741 9 13 —
. g S511405.3 -+ 5x114.3 67.1 67.1 - 15 $512020.38 20 5x120 741 741 9 15 i
g S511405.4 5 5x114.3 56.1 56.1 - 15 $512020.4 20 ox120 741 726 9 16 E
g $S511406.0 6 5x114.3 64.1 64.1 - 15 S512020.5 20 o5x120 726 726 9 15 g
=3 S511408.0 8 ox114.3 67.1 73.1 9 15 $512020.6 20 5x120 741 72.6 9 15 -|_E '
S511408.1 8 5x114.3 56.1 56.1 9 15 $5512020.6B 20 ox120 741 726 9 13
S511410.0 10 5x114.3 66.1 66.1 9 13 $512020.7 20 5x120 65.1 65.1 9 15
S511415.0 15 5x114.3 66.1 66.1 9 13 $512020.8 20 5x120 67.1 67.1 9 15
S511416.0 16 5x114.3 66.1 66.1 9 13 $512023.0 23 ox120 741 726 9 15
S511416.1 16 ox114.3 67.1 67.1 9 13 $512023.3 23 5x120 741 726 9 15
S511416.2 16 ox114.3 64.1 64.1 9 13 S512025.0 25 5x120 741 741 9 15
S511416.3 16 5x114.3 66.1 66.1 9 15 $5512025.08 25 ox120 741 726 9 15
S511416.4 16 5x114.3 67.1 67.1 9 13 S512025.1 25 9x120 741 725 9 15
S511417.0 17 5x114.3 66.1 66.1 9 15 $512025.2 25 9x120 72.6 72.6 9 15
S511420.0 20 ox114.3 66.1 66.1 9 13 $512030.0 30 5x120 2.6 726 9 15
S511420.1 20 5x114.3 67.1 67.1 9 j Jo $S512030.1 30 ox120 741 741 9 15
S511420.3 20 o9x114.3 60.1 60.1 9 15 $512035.0 35 5x120 72.6 726 9 15
S511420 4 20 5x114.3 64.1 64.1 9 13 S513003.0 3 ox130 84.1 84.1 - 15
S511420.5 20 9x114.3 66.1 66.1 9 15 S513005.0 5 o5x130 71.6 716 - 15
S511425.0 25 5x114.3 66.1 66.1 9 13 S513007.0 7 5x130 716 716 - 15
S511425.1 25 5x114.3 66.1 66.1 9 15 S513012.0 12 ox130 16 16 9 15
S511430.0 30 5x114.3 66.1 66.1 9 13 S513015.0 15 5x130 716 716 9 15
S511430.1 30 5x114.3 66.1 66.1 9 15 S513016.0 16 5x130 71.6 71.6 9 15
S512005.0 5 5x120 726 72.6 - 15
$512005.1 3) ox120 741 741 - 15
$512010.1 10 5x120 72.6 2.6 - 15
$512010.2 10 5x120 65.1 65.1 - 15
S512023.1 23 5x120 72.6 72.6 - 15
$512023.2 23 ox120 741 741 - 15
$512010.0 10 5x120 726 726 9 15
S512012.0 12 5x120 72.6 726 9 15
S512012.0B 12 o9x120 2.6 2.6 9 15
S512013.0 13 5x120 726 72.6 9 15
S512013.1 13 5x120 741 74.1 9 15
S512015.0 15 5x120 725 72.5 9 13

B 14

15






Hub Centric Spacers & Adaptors

» HENG TIAN

H 18

Thickness(mm) Cel:::r:;)re Cgr:,tj:r:; - step(mm) Bolthole(mm)
SC56003.1 8 5x114.3 & 5x120 715 715 - 15
SC56003.0 13 5x114.3 & 5x120 725 725 9 15
SC56009.0 g 5x114.3 & 5x130 715 715 i 15
SC57001.0 20 5x98 & 5x108 58.1 58.1 9 15
= SC57001.1 30 5x98 & 5x108 58.1 58.1 9 15 ©
i S v
2 Part No. Thickness(mm) REpiRIEnge SATRAINON Step(mm) g §
3 In(mm) Out(mm) :|=: (%
A310018.0 18 3x100 to 4x100 60.1 67.1 9 M12x1 50
> T A410016.0 16 4x100 54.1 54.1 9 M12x1.50 [
3 2 A410016.2 16 4x100 561 56.1 9 M12x1 50 £ ¢
= 3 A410020.1 20 4x100 56.6 56.6 9 M12x1.50 o8
> A410020.2 20 4x100 54.1 54.1 9 M12x1 50 32
= A410020.3 20 4x100 56.1 56.1 9 M12x1.50 =
=, A410020.4 20 4x100 52 52 9 M12x1 .50 %
3 S ol | e vl ey | Outimm | StePlmm) | Bolthole(mm) A410025.4 25 4x100 671 671 - M12x1 50 >
- SE45004.0 3 4x100.5 - 5x126.5 80 80 i 15.5 A410025.2 25 4x100 56.1 56.1 9 M12x1 50 =
I SE45003.0 : 4x98 - 5x120 54 1 54 1 : 15 A410030.0 30 4x100 67.1 67.1 ; M12x1.50 i<
o SE45003.1 g 4x98 - 5x120 56.1 56.1 i 15 A410032.0 32 4x100 54.1 54.1 9 M12x1 50 <
® SE45003.10 5 4x98 - 5x120 66.6 66.6 i 15 A410025.3 25 4x100 to 4x108 73.1 73.1 i M12x1.25 -
= SE45003.11 ; 4x98 - 5x120 67.1 67.1 i 15 A410020.6 20 4x100 to 5x100 54 1 54.1 9 M12x1 50 T i
SE45003.2 5 4x98 - 5x120 56.6 56.6 - 15 A410016.1 16 4x100 to 5x120 57 1 726 8 M12x1 50
SE45003.3 5 4x98 - 5x120 57.1 57 1 . 15 A410016.3 16 4x100 to 5x120 57 1 741 8 M12x1.50
SE45003.4 5 4x98 - 5x120 58.1 58.1 i 15 A410820.0 20 4x108 63.4 63.4 9 M12x1.50
SE45003.5 5 4x98 - 5x120 60.1 60.1 - 15 A410820.4 20 4x108 65.1 65.1 9 M12x1.25
SE45003.6 5 4x98 - 5x120 63.4 63.4 i 15 A410825 4 5 45108 73 4 73 1 ] 1251 25
SE45003.7 S 4x98 - 5x120 64.1 64.1 - 15 A410825.3 25 4x108 63.4 63.4 9 M12x1.50
SE45003.8 0 4x98 - 5x120 6.1 65.1 : 15 A410825 5 25 4x108 65.1 65.1 9 M12x1 25
SE45003.9 . 4x98 - 5x120 66.1 66.1 = 15 A410830.0 30 4x108 63.4 63.4 9 M12x1.50
SE45001.0 8 4x98 - 5x120 67.1 3 & 14.5 A410818.0 18 4x108 to 4x100 63.4 67.1 9 M12x1.50
SE45002.0 10 4x98 - 5x120 65.1 72.6 8 15 A410822.0 22 4x108 to 4x100 65.1 73.1 9 M12x1.50
SE45001.1 12 4x98 - 5x120 67.1 3 9 14.5 A410820.5 20 4x108 to 4x110 65.1 65.1 g M12x1.50
SE45001.2 23 4x98 - 5x120 3 3 - 14.5 A410820.2 20 4x108 to 5x114.3 65.1 60 8 M12x1 25
A411025.3 25 4x110 to 4x100 70 70 i M12x1.50
o We Only hSt parnal pOpUlal' SpeClﬂcatlonS hel'e A411025.2 254 4x110 to 4x110 80.35 80.35 7 M10x1.25
A411020.0 20 4x110 to 4x114.3 59.6 59.6 9 M12x1.50
Feel free to contact us if you have any other requirement. A411415.0 15 4x114.3 73 73 : M14x1.50
A411420.0 20 4x114.3 73 73 . M14x1.50
A411420.1 20 4x114.3 67.1 67.1 9 M12x1 50
A411425 1 25 4x114.3 66.1 66.1 7 M12x1.25
A411425 2 25 4x114.3 67.1 67.1 7 M12x1 50
A4114253 25 4x114.3 66.1 66.1 9 M12x1.25
PCD Checker A411425 4 25 4x114.3 54 1 54 1 9 M12x1.50
1G6002 A411425 5 25 4x114.3 67 1 67.1 9 M12x1.50
A411425 6 25 4x114.3 60.1 60.1 9 M12x1.50
I A411430.0 30 4x114.3 67.1 67.1 9 M12x1 50
A A411450.0 50 4x114.3 671 67.1 9 M12x1.25
| i b . T G A411418.0 18 4x114.3 to 4x100 60.1 67.1 9 M14x1.50
Ad11420.2 20 4x114.3 to 5x114.3 66.1 66.1 9 M12x1.25
A413720.0 20 4x137 to 4x156 70 70 i M12x1.50
A413730.0 30 4x137 to 4x156 70 70 - M12x1.50

19 B










Hub Centric Adaptors

» HENG TIAN

A Neutral Box

Centerbore

e

=

1 “*r‘ﬁfr:_rr S0 £l GRS

wiaae ol

A Color Box

Centerbore

Hub Centric
Spacers

sioldepy

oljuan gny | auuan gnH

Hub Centric
Adaptors

|ESIaAIUN

L
=
o
Q.
D
=
—
=
O

PartNo. | Thickness(mm) CEI::::;"E Cg’:&;:; € | step(mm)
A613930.20 30 6x139.7 103 103 9 M12x1.50
AB13930 21 30 6x139.7 93.1 93 1 9 M12x1.50
AB13930.22 30 6x139.7 103 92 9 M12x1.50
AB13930.23 30 6x139.7 110 105 9 M12x1.50
A613930.25 30 6x139.7 110 108 9 M12x1.50
AB13930.26 30 6x139.7 106 106 9 M12x1.50
AB13930.28 30 6x139.7 951 951 9 M14x1.50
AB13930.9 30 6x139.7 110 110 9 M12x1.50
AG13932.1 32 6x139.7 106.1 106.1 . M12x1.50
AB13932.0 32 6x139.7 67.1 67.1 9 M12x1 50
AB13935.0 35 6x139.7 107.4 107.4 i M12x1.50
AB13935.1 35 6x139.7 60.1 60.1 9 M12x1.50
AB13935 2 35 6x139.7 93.1 93.1 9 M12x1.50
AB13940.1 40 6x139.7 110 110 i M12x1 25
AB13940.3 40 6x139.7 107.4 107.4 i M12x1.50
AB13940 4 40 6x139.7 106.1 106.1 i M12x1.50
AB13940.2 40 6x139.7 106.1 106.1 9 M12x1.50
AB13950 2 50 6x139.7 108 108 ] M12x1.50
AB13950 4 50 6x139.7 110 110 i M12x1.50
AB13950.9 50 6x139.7 110 110 i M12x1.25
AB13950.1 50 6x139.7 110 110 9 M12x1.50
AB13950.10 50 6x139.7 103 92 9 M12x1 50
A613950.11 50 6x139.7 110 105 9 M12x1.50
AB13950.12 50 6x139.7 106 106 9 M12x1.50
AB13950.5 50 6x139.7 92 92 9 M12x1.50
AB13950 6 50 6x139 7 103 103 9 M12x1.50
AB13950.7 50 6x139.7 108 108 9 M12x1.50
AB13950 8 50 6x139.7 110 110 9 M12x1.25
AB13950.13 50 6x139.7 93.1 93.1 9 M12x1.50
AB13950.15 50 6x139.7 67.1 67.1 9 M12x1.50
A613950.16 50 6x139.7 951 951 9 M14x1.50
AB13950.14 50 6x139.7 108.1 108.1 9 M16x1.50
AB13950.0 50 6x139.7 to 6x130 106 110 9 M12x1.50
AB20020.0 20 6x200 142 1 142 1 9 14x1.50
A620030.0 30 6x200 142 1 142 1 9 14x1.50
AB20550.0 50 6x205 161 161 9 14x1.50
A816530.0 30 8x165.1 117 117 9 M14x1.50
A816550.0 50 8x165.1 117 117 9 M14x1.50

Part No. LS G ESS ) in(mm) Out(mm) Step(mm)
AB611430.5 30 6x114.3 to 6x139.7 66.1 60.1 9 M12x1.50
A611450.0 50 6x114.3 to 6x139.7 66.1 110.5 9 M12x1.50
A613020.0 20 6x130 to 6x139.7 84 67.1 9 M14x1.50
A613035.0 35 6x130 to 6x139.7 84.1 84.1 9 M14x1.50
AB613530.0 30 6x135 87.5 87.5 9 M14x1.50
A613530.1 30 6x135 87.5 78 9 M14x1.50
AB613530.2 30 6x135 86.8 86.8 9 M14x1.50
A613550.0 50 6x135 87.5 87.5 9 M14x1.50
AB13550.1 50 6x135 87.5 78 9 M14x1.50
AB613550.2 50 6x135 87.1 87.1 9 M14x1.50
AB613550.3 50 6x135 86.8 86.8 9 M14x1.50
A613925.11 23 6x139.7 106.1 106.1 - M12x1.50
AB13925.9 25 6x139.7 107.4 1074 - M12x1.50
AB613925.1 25 6x139.7 108 108 9 M12x1.25
AB613925.2 25 6x139.7 67.1 67.1 9 M12x1.50
AB13925.3 25 6x139.7 93.1 93.1 9 M12x1.50
AB13925 4 25 6x139.7 100.1 100.1 9 M12x1.50
AB613925.5 25 6x139.7 106.1 106.1 9 M12x1.50
AB13925.6 25 6x139.7 100.5 100.5 9 M12x1.50
AB13925.7 25 6x139.7 108.1 108.1 9 M12x1.50
AB139258 25 6x139.7 100.5 100.5 9 M14x1.50
A613930.1 30 6x139.7 100 100 - M12x1.50
A613930.14 30 6x139.7 110 110 - M12x1.25
A613930.16 30 6x139.7 100.1 100.1 - M12x1.25
A613930.18 30 6x139.7 108.1 108.1 - M12x1.50
A613930.2 30 6x139.7 108 108 - M12x1.50
AB13930.24 30 6x139.7 1074 1074 - M12x1.50
AB613930.3 30 6x139.7 108 108 - M12x1.25
A613930 4 30 6x139.7 108.5 108.5 - M12x1.50
A613930.5 30 6x139.7 112 112 - M12x1.25
AB613930.6 30 6x139.7 106.1 106.1 - M12x1.50
A613930.7 30 6x139.7 106.1 106.1 - M12x1.25
AB613930.8 30 6x139.7 110 110 - M12x1.50
A613930.0 30 6x139.7 67 67 9 M12x1.50
A613930.11 30 6x139.7 67.1 67.1 9 M12x1.50
A613930.12 30 6x139.7 106.1 106.1 9 M12x1.50
A613930.13 30 6x139.7 110 110 9 M12x1.25
AB613930.15 30 6x139.7 100.1 100.1 9 M12x1.25
AB613930.17 30 6x139.7 108.1 108.1 9 M12x1.50
A613930.19 30 6x139.7 92 92 9 M12x1.50
AB613930.27 30 6x139.7 1071 1071 9 M12x1.50

H 24

Outer side knurling

Easy removing

£ If any special request, please feel free to contact us.

Special grooving
and lasering

Protective sleeve

25 B

Hub Centric | Universal







